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Total No. of Questions : 27] | : | ' | [ Total No. of Printed Pages : 19
2311211
- Subject : Mathematics
Cwmoawy e
‘Time : 3 Hours ] ‘ . .- [ Maximum Marks : 100
Instructibns:- _
@ ahvEsfErt

1 Al questions are compulsory.

| (ii) mm'a ﬁa‘hmttwm) ﬂgﬁaﬁ*ﬂﬂm e () e ™l
o ﬁgﬁimm(m ﬁmwﬁqm%immm e aeiead |
() Question No. 1 has three parts, in Part (A) Multiple choice questions,

in Part (B) Fill i in the blanks and in Part (C) Wnte true or false are given.
) Each qucstloncan'y 1 mark.

T ~ TINRTRN R
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(2)

(iii) - mmzmswmmwz eﬁmﬁa%'

(1) - Questlon No.2to 13 areeach questmn cames 2 marks

(iv) 'mmmﬁwwmmﬁs waﬂaﬁa%f

(i\}) Quesnon No 14 tol 9 are each questlon cames 3 marks

v) mmzoﬁzswagsaﬁam%‘ummﬁaﬂmﬁm%n

TIF T W 4 Wmﬁa%ﬂ

). Questlon No.201t023 are short answer type questions. Each question has

an mternal chcnce Each questlon carries 4 marks..

(vij 'wrmmqazs mﬁam%nmmﬂmﬁwmﬁu
. mmmsmméu

(vi) Question No. 24 and 25 are short answer type qucstlons Each unStIOI‘l N

hasan mternal ch01ce Each questlon camcs 3 marks,

(Vu) mmzeqaﬂﬁﬂﬁﬁamé‘rmmﬁmﬁm%i

mmm Wﬂﬁﬁﬂ%!

. (vu) Questlon No 26 and 27 are long answer type qucstlons Each question has

an mternal choice. Each questlon carries 6 marks ,

2311211
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Ty 1

-3
(@ - 31)

(Part-A)

(3r) aﬁﬁmmﬁwﬁm—

" (A) Cheose the correct option -

() Fretarer iRyt
@ o o
@ -3
@
@ 15
(i)  Whichof the fdnowing-nmnberisawhole number:
o |
® 3
© -3
@ 1.5
(ii) (16)3’? FTATENT :
(&) 2
@ 6
@ 16

sH211

PT.0.
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(4)

(i) Thevalueof (16)3/4 willbe:
(@) 2
® 6
{c) 8
() 16
(iii) /12 IO T
() 3
- 7
@ /3
@ 12
(iji) The raﬁonaiising factorof [12 is:
. (a) 3
(b /2
| ) /3

@ 12 ‘

2311211
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{5

(iv) 3;<Zyﬁfx2 FHIHFR:

v)

N 3
® 3y
® vy

® 1
)

The coefficientof x2 in 3x2%y is:

@ 3
() 3y

, © v

@ 1

(V) WEHR xPy+xy?-3xy+4HEER :

@) 2
@ 3
@ 1
@ 4

_ The degrec of the polynomial x2y + xy2-3xy +4is:

a) 2

(b) 3

@ 1

@ 4

1211

P.T.0.
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| (vi) a®-b? %W% -
(3 (a-b)(a-b)

(@ (a-b)(a+b)

(vi)

(vii)

(vii)

(@ (a-b)(a-b)

N,

{6)

@ (a+b)(a+b)

@ (a-b)?

a*-b?isequalto:

(®) (a+tb)(a+b)
(© (a-b)(a+b)

@ (a-b? o
m%vﬁn,16,21,26—————«—————#%@_: |
.(31)- i - : : ; . ,
@ -5

& 4

@ s

Comﬁor’: difference of the Arithmetic Progfession 11,16,21, 26 ---
s : -

@ 11

b -5

(c) 4

(d) 5

2311211



(7
(viii) 90-3’1_‘25%3‘!111':.
€) 2250
| (a) 225.0
(@r) 22.5‘L0'

® 2250

- (viii) 25%of 90is:

(@ 2.250

(b) 225.0

) 22.50 |

) 2250 |
(x) TGRSR R -

(H) qaw

@ g

Fa1]

. PTO.



(®)
- (ix) Theamount on which the interest is calculated :
:(a) Principle -
(b) Corﬁpdund Intefest
(c). Amount
(d) Simple Interest
(x) aﬁﬁwx2+2x+1=oaﬂﬁﬁéﬁaﬂm:
@ 2 |
@ 2
@ 4
@ 0
(x) _ Discriminant 'of ‘quadratic equation x> +2x+1=0will be :
(a) -2
® 2
© 4

231211




(=)

(B)

(i)
(i)

(i)
(i)

(iii)
(iii)

(iv)

(iv)

(v)

'(‘.’)

®
(@S - =)
| (Part - B)
e e Y g @R
Fillin the blanks :

T e %9 o e 30° R 50° ¥, Frys & it Fio %1 9m

de,an'gles of a trian_gle are 30° and 50°, then value of third angle of

triangle willbe .............c.......

e B e g 8 T v e o ) e - B ¥

The length of tangents from an external pointtoa cirg:l_e are ...covvevrvvennens

1f @ Fegeiy 35 e 1T SR S A S St = ———— B

If two triangles have corresponding angles are'equéﬂ the triangles are

---------------------

1311211
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. (19
(Wig-w|)
(Part - C)

(W) wea/ s fofey:

(©)  Writetrue/false:
(i) cosec?®=1+co? @ BN |

(i)  Valueofcosec?8=1+cot?0.

(i) v feret I o1 fomha od, P e @ s B e e B R |

(ii) Whenselling pricé is more than costpriceof goods, there is a profit.

(ifi) 3 ‘a" ST ST 61 ST1e 622 BT |

(iii) Volume of cube of side'a'is 6a°.

(iv) 3%%21,2,3,2,4, 2% aga@wasin

(iv) Themodeof variables1,2,3,2,4,2 willbed. -

(v) _aﬁ'ﬁﬁ(xph) SﬂI(xz, Yz)a;@a;qﬁiﬁ= j(xz‘xl)z“()"z‘Yl)z

(v) Thedistance betweentwo pomts (x5, y,)and (x,, yé—)_ is=

.j(x;-xl)’--(yz—yl)z

2311211




x#% L Frem

A

(-

WAFHIT

MR
Simplify ;
P x 1

‘Subtract -)l? from x,

2x+5=15
Solve the equation :

2x+5=15

wmwmmsmmhus% tmmwmm‘?ﬁm

The common d:ﬁ'emnce of an A.P. is 5 and the 10t term is 43. Find its first

T term.

.20 aﬁﬁ%éwﬁmfms wmm:mmmammm ?

Prakhar obtamed I8 marks in a test of total 20 marks, What was his

percentage of marks ?

PT.0.



(12)

WeE-7 A < e Sl 3 Sl S ST 16 : 25 ¥, A Py ) S e ¥
AT I R |

If the ratio of the areas of two similar niangleé is'16 :-'25,.‘Fin'd the ratio of

their corresponding sides.
we-8  Afergeli P(3,2) 8RQ(11, 8) FRE T M AT
Find the distance between two points P (3,2) and Q(11, )
w9 737, Frean et g i uffur s #f |
Find the circumference of acircle Whose radiusis 7 c.m.
WY-10 T THIRR I 1 S JI i1, Forasht STem ofsit 12 4,41, q91 e
. s_MWE
~ Find the area of parallelbgram of base 12 c.m. aﬁdzléorr‘e‘sponding altitude is
- 8em.

- 11 Frefafea sram A HIaT:

3sin19°

cos71°

Evaluate the following :

3sin 19°
cos71°

231121
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S E

eis

(13)

uwmz mmmmaﬁmmmﬁﬁm

- Find the mean of firstseven natural numbers,

U -13 Qﬁaﬁsﬁﬁﬁvaﬁf?z‘r(%s fe1) ﬁsstﬁana‘ﬁﬁmﬁwamﬁfml

Fmd the probablllty of non-leap year(365 days) containing 53 Sundays

m—u '

3 -2 a%s?mvﬁﬁamﬁmi
V5 +2

J5 2
Ratlonahsc the denommator of = 5

U¥-15 wmww%mﬁfwmwsa&‘mz aﬁ%m&mmmwsma &
!Tﬁma'eﬁﬁrm

The difference between snnple Interest on sum of money for 3 years and for

2 yearsat 10% per annum is Rs. 300. Find the sum.

dlstance of the chord from the centre of mrcle

PTo,



(14 | ,
| a¥t-17 w S I A A, T ek 24 AL, A Wﬁqﬂﬁ g3 ‘a‘ﬁ
Find the total- surf@ area of a s&?lid cylinder haviﬁg diameter 14 c.m. and

height 24-c.m.

ToI-18 T T AR R g g TRt i T 60° o ST ¥ | i o e
frgdard s Ma g wd [ T TR
A iadder leaning against a vertical wall makes an-ém‘glé 60° with the ground.

The foot of the ladder is at a distance of 3 m. from the wall. Find the length of

| theladder. o | I
w19 U ol T W IO S ¥ 15 W SIS I How S HY whiwa I
T |

-A dice is ti‘arownom Demfmctheﬁrobahﬂity of getting a number other

 thans.

W20 TR S ) e g |

Write the statementof Pythagoras theorem and prove it.
. (omaT)

(OR)

23t




{18)

ﬁaﬁﬁmﬁhrsﬁu ﬁmmw nﬁ?{%‘ @TWW i{ﬁmﬁaa%mﬁ'
ﬁwﬁ%m%ﬁaﬁqﬂ 12 e 4 20l s o e 50
e _ |
Two polggof bight 12 m. and 17 m. stand ona plane grmmd If the distance

between their feetis 12 m., then find the dlsmnce betwecnﬂmrmps
m—n 2@!14’1 MWMW@IW@WWWW!@WH% |

P

| Ab:gﬁphcre1smadebymeltmgdom64smallsphcmseachof radius 2 c.m..

Findradius of blg sphere.

(arwer)

(oR) |
ﬂﬁ@?@t-m—ﬁuﬁﬁ:m . w3 21 ﬁrﬁ AvFF AT

f the circumference of the base of a cone is 44 c.m. and height is 21 c.m.,

| then‘ﬁnd the volume of acone.

1

w-22 fagEife:  tn6+cotf= ————
: o sin 0 .cos 6

g o 1
Provethat: 9+cot9—-—
o : sin 0 .cos 6




(e
( 3reratr)
(OR ).

fog#ifmafe: [LAsin® _ . ottand

1-sin®

Provethat: : /1_+_§_1£9. = sec9+tan9'
7 1-s8in9

. i

wo-23 Frer ol AifeaesT A iy - ‘
at | o010 | 1020 | 20-30 | 30-40 [ 40-50

SIEI 4 | 8 16 12 | 10 |

| ' |

Find the median of the following table: - B

Class 0-10 . | 1020 | 2030 | 3040 | 40-50
Frequency | 4 8 6 | 12 10
(0R)

2311211
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(17)

ProraToR & S AR

am=R | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
st - | 6 15| 25 | 3 | 12 7
Find the mode of the.follov'viliig table :
ClassInterval| 0-10 | 10-20 | 20-30 | 30-40 |, 40-50 | 50-60
Frequency 6 IS 25 35 12 7
v -24 Al x+— 3 A x +_mnﬁaﬁaﬁﬁm

If x+ 1 =13, then find the value of x 3+ %
X . X
( 3reraT )
(OR)

afgp = 2".+laan X+2 %fﬁp+QmﬂP Qfﬂnﬁmﬁmn

X - 1

If P= 2

dQ— thenﬁndthevalueof P+QandP- Q

+1’

ug-25 Maﬂﬁq%%@mﬁgﬁﬁm@%ﬁﬂéawﬁ@aﬁaﬁwﬁw

e
Prove that the length of two tangents drawn from an external point to a circle

arc equal.

21211 B et e



(18)
( srer)
(OR) |
wﬁg%ﬁmsﬂﬂﬁmﬁtﬁg&ﬁ(s 7)3311( -1, —s)%’rfﬂﬁﬁaﬁﬁ
i'@raﬁa’wﬁwmﬁz 3%&3#131%1’&%%1?@%:

Find the co-ordinates of tbe point which divides internally, the line joining the
points (3, 7)and( I ,-5) mtheranoZ 3.

v1-26 -atfm 2x2-x-21=oa$rmﬁf%m

| Sol;sréthequach'atic equaﬁcm 2x2-?(-_21 =0
_f (R ) |
|  2x+3y=4

3x+2y=11

Solvethe equation :

2x+3y=4

- 3x+2y=11

zmn




et e L — e 4

(19)

wE-27 wma@ﬁaABCDﬁzA=62°,§aiﬁﬁﬁ%mmﬁﬁm

Ina parallelogram ABCD, ZA% 62°, find the measures of the 'othler angles.
(W) | . o
g o e e A A Bt & e e R AR E
Prove tllat any t;‘ianglé which has equal sides will hqv_e equal angles oppposite

- tothese, .

11211



